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a) All Questions are compulsory.
b) Figures to the right indicate full marks.

¢) Draw neat diagrams wherever necessary.

Q.1 Attempt any Two. (15)

a) Examine the need for New Economic Policy 1991 in India.
b) Discuss the concept of Human Development Index.

¢) Explain the government policy measures to promote education in India.
Q.2 Attempt any Two ' (1s)

a) What are the features of the New Agricultural Policy, 2000?
b) Examine the industrial development in India since 1991.

¢) Explain the significance of service sector.”
Q.3 Attempt any Two. s).

a) Explain the structure of banking sector in India.
b) What are the recent changes in Reserve Bank of India’s monetary policy?

¢) Discuss the fiscal measures to control inflation.

Q.4 A) State whether the foilowing statements are true or false with reasons

( any four) 8

1. After 1991, the share of service sector in India’s national income is falling.
2. There are no changes taking place in the occupational structure in India.

3. Growth in population leads to low agricultural productivity.
4

. Small scale industries contributes to exports of India.
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5. Growth in population causes inflation

6. Price stability is an objective of monetary policy.

B) Select the correct answer from the alternatives given and rewrite the answer.

(any seven) _ )

1) is not an economic indicator of development.

a. National Income
b. Per Capita Income
¢. Quality of environment

2) The National Rural Health Mission was launched in the year

a. 1991

b.2005

¢.2010

3) Investment in is a significant investment in human development.
a. Health

b. Agriculture

c. Industry

4) is an instrument of public distribution system.

a. Minimum Support price -
b. Cash reserve ratio

¢. Bank Rate
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5) is not a measure to improve agricultural productivity.

a. Agricultural Price Policy

b. Agricultufal Finance

c. Export Finance

6) helps in thé process of industrialization.
a. Non favourable political environment

b. Availability of natural resources

c. Non availability of natural resources

7 is not a developmental function of Reserve Bank of India.

a. Agricultural and rural credit
b. Priority sector lending
c. Loan to firms

8) does not cause inflation.

a. Black money
b. Rising fiscal deficit
c. Falling fiscal deficit

9 is a public sector bank.

a. Canara bank

b. Axis bank

¢. Citibank
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